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1.

T 3B

For SSC CHSL Exams

o8 faww dern-gm 9 S

SSC CHSL 31/05/2022 (Shift-2)
(a)100: 81 (b) 36:16 (c)49:25 (d)81:49
o8 faw Hen-gm A s

SSC CHSL 31/05/2022 (Shift-2)
(a)7:392 (b) 9: 810 (c)15:3150 (d)12:1872
o8 fomd Hern-gm 9 s

SSC CHSL 31/05/2022 (Shift-1)
(a)48:7 (b)25:8 (c)15:4 (d)8:3
g fomm "en-gm F[ &

SSC CHSsL 30/05/2022 (Shift-3)
(a)53:2916 (b)41:1765 (c)23:576 (d)19:400
9% fomm en-g™ [ &)

SSC CHSL 30/05/2022 (shift-3)
(a)16:8 (b)4:5 (c)9:6 (d)36:9
g fawd dern-gm A[ i)

SSC CHSL 30/05/2022 (shift-1)
(a)441:49  (b)729:81  (c)369:41 (d)343:47
I faww ¥&r-gm A[ Sitg)

SSC CHSL 10/06/2022 (shift-1)
(a)678:7 (b)282:6 (c)366:5 (d)546:5
o8 fawm dern-gm I S
SSC CHSL 09/06/2022 (Shift-2)

(b) 8671: 22
(d) 3427 :16

(a)2834:18
(c)9876: 30
9% fomm "en-g™ [ &)
$SC CHSL 09/06/2022 (Shift-2)
(b) 2437 : 7342
(d) 1786 : 6871

(a)4328:8324
(c) 3569 : 9653
o8 fawm "dern-gm I Sl
SSC CHSL 09/06/2022 (shift-1)
(a)6: 41 (b)4: 21 (c)8:70 (d)7:54
g fomm "en-gm [ &
SSC CHSL 08/06/2022 (shift-3)
(a)48-62 (b)32-40 (c)B4-80 (d)56-70
3G GO H1 T WS o § R
SSC CHSL 19/04/2021 (shift-3)
(a)2105 (o) 8457 (c) 4328 (d)3124
39 fawed &1 == #F S = R
SSC CHSL 19/04/2021 (shift-3)

20.

21.

22.

23.

24.

25.

26.

27.

(o) ufesm (b) "rmafaw
Te e TH S = 2

(c) =rar (d) fafeferm
SSC CHSL 19/04/2021 (shift-2)
(a)3437 (o) 7437 (c) 7415 (d) 5453
U FER-E F1 w9 HE S fa R
SSC CHSL 19/04/2021 (shift-2)
(a)swDz (b) RVGC (c) FJQMm (d) GkpPL
o &1 == W
SSC CHSL 19/04/2021 (Shift-1)
(a) PORT : TROP (b) MODE : EDOM
(c) LIMB : BMIL (d) FIST : IFTS
39 TEA-gH Hw wE w1 S fe R
SSC CHSL 19/04/2021 (Shift-1)

(a)n:122 (b)14:m2 (c)21:168  (d)18:144
oE wEem 94 S fae R SSC CHsL 16/04/2021 (Shift-3)
(a)198 (b) 165 (c)177 (d)132

fomm &1 == W SSC CHSL 16/04/2021 (Shift-3)
(o) T (b) et (c) WM (d) wran

SH FER-E w1 W@ w1 fa R

SSC CHSL 16/04/2021 (Shift-3)
(a)YWTP (b) PMJG (c) MKHD (d)uspPL
=1 oI w1 = W

$SC CHSL 16/04/2021 (shift-2)
(a) e (b) whR (c)arg#r  (d) et
U AE-E w1 W Hw S fae R

SSC CHSL 16/04/2021 (shift-2)
(a)MQTXA  (b)SWzDG  (c) JNQUX  (d)PTXBF
fo= &1 == W=

SSC CHSL 14/10/2020 (Shift-2)
(a) sArez (b) v (c) e (d) T
o= &1 == =

$SC CHSL 14/10/2020 (Shift-1)
(a)CGF (b) MPL (c) bGC (d)qrp
i &1 == W

SSC CHSL 14/10/2020 (Shift-1)

(a) Feeret (b) wrEeIE=RIY
(c) =g (d) T
St fa= ® S8 A

SSC CHSL 14/10/2020 (Shift-1)
(a)32-45 (b)13-16 (c)16-30 (d)12-15
StfE ® S8 T

SSC CHSL 13/10/2020 (Shift-3)
(a) ADGPI (b) OMKLU (c) vDcka  (d)ECVMU



2 B SSC Reasoning

28. famm &1 ==m $SC CHSL 13/10/2020 (Shift-2)
(a)=m= (b) =R

. ()= (d)%=E
20, 3@ FEAI-FW w1 WA KL S g @ e 2
SSC CHSL 13/10/2020 (Shift-2)
(a)22:506 (b)14:210 (c)17:306  (d)1:142
30. fowd sfeR-THE w1 =W H|
SSC CHSL 13/10/2020 (Shift-2)

(a)NTX (b) BGQ (c) LRX (d)FLR
3. fam &1 == W CHSL 3-7-2019 (Shift-2)
(a)=ifEe (b) Wy (c) s (d) &

32.

33.

34.

35.

faom &1 =T W CHSL 3-7-2019 (Shift-1)
() Serfernt (o) wfem

(c) =t (d) grefem

faom =1 =T w CHSL 3-7-2019 (Shift-1)
(a)Avz (b) UPF (c) oKL (d)Ezv

faom 1 =T CHSL 3-7-2019 (Shift-1)
(a)2421 (b) 7261 (c) 5472 (d) 4842
faom &1 T W CHSL 2/07/2019 (Shift-3)
(o) St (b) femmgR

(c) siifegan (d) feeeht

1. (o)ﬁﬁ(mZ:nQ)ﬁmaﬁTnmaT‘aIZ?

(@) 10? : 92 (b) 62 : 4
(c) 72:52 (d) 92:72
2. (o)t n%(nﬂ)mmwmm%
(a) 72 x8 =392
(b) 92x10=810
(c) 152 x16 = 3600(3150, &)
(d) 122 x13=1872
3. ()T n?-1:n 2
(a) 72-1:7 48:7
(b) 82-1:8 63:8 but 25:8
(c) 42-1:4 15:4
(d)32-1:3 8:3
4. (B)¥ nx(n+2)+1 %
(a) 53x(55+1) =2016
(b) 41x (43 + 1) =1764 #1765
(c) 23><(25 +1) =576
(d) ]9><(21+1)=4OO
5. (o)az-i(nQ;n+3)%
(a) 42:4+3 16:7%16:8
(b) 22:2+3 4:5
(c) 32:3+3 9:6
(d) 6%:6+3 36:9
6 (d)ﬁz‘—fﬁg ?=09
(o)%:@) (b)%g=9
c) 369 g (@379

41 47

7.

8.

9.

10.

1.

12.

13.

(b)¥=d 2 (SH0 wem vl e & el o ofiHd ®)

(0)678:7a(6+7+8)

46

(b) 282:6»2+§+2=

(c) 366:5 -

3+6+6:5
3

(d)546:5—>(5+:+6]:5

(o) U, weeht e - ol wem & gt S & oA 2
(0) 2834:18=2+8+3+4 =18
(b) 8671:22=8+6+7+1=22
(c) 9876:30=9+8+7+6=30
(d) 3427:16=3+4+2+7=16

(a) Yed & (E0 AR "een HR & S d ek fomn @)
(0) 4328:8324 — 4328 —)tﬁ@ a’ﬁ 31:"{ 8234 = 8324

() 2437:7342 — 2437 — 3 &1 3R 5349
(c) 3569:9653 3569 »> 1@ 1 3R ggoa
(d) 1786:6871 51786 — W& *1 3R gy

(c)¥F n:n24+5 3
a : +5—56:4]
(0)6:62+5->6
(b) 4:4%2 15 54:2]
(c) 8:82+5-58:69%8:70
(d)7:72 455 7:54

(o) =i 2
48 32
20 _ =240
(a) 08 60 % 62 (b) 08
64 56
c) — =80 d) ===70
(c) 08 (d) o8
(b) ¥, weeht x enfEd - #ew wem ©
(a) 2x5=10 2105
(b) 6x7=42 6427 = 6457
(c) 4x8=32 4328
(d)3x4=12 3124

(c) =@l a% o' ® <o ufem, Awafay, fafefertt wmn ef
I 7 Aferd wwet faaftia C ®1 %W 9 8 aren I B



20.

21.

22.

23.

24.

(b) ¥t &
(a) 3437 =3+4+3+7=17

(b) 7437 = 7+4+3+7=21%17
(c) 74156=7+4+1+5=17
(d) 5453 =>5+4+5+3=17

(b) ¥t &

(a)s w D z
+4 +7 -4

(b)R v G C
+4 +1 -4

(c)F J Q M
+4 +7 -4

(d)e K P L
+4 +5 -4

(d) %= ABCD : DCBA ®

(a) PORT :TROP (b) MODE :EDOM

(c) LIMB :BMIL (d) FIST: TSIF = IFTS
(o) Tt 2 ﬁ% €

(a) %:n.og (b) %:8

(C)%:EB (d)144-18=8

(c) ¥ 2 (177 ® Bgaw wsdt wead 33 & N )
() 198 =33x6

(b) 165 =33x5
(c) 177, 33 &1 U & €
(d)132=33x4
(o) @ we ®
(o) za 9o ®
(a)y w T P
-2 -3 -4
b
(b)p — M_3 1_3 G
(c)M — K_3 H — D
d
(d)u — 8_3 P_4 L

(d) 92, TIhR, TRGHR ST~ € SEfy T e fashed
i

(d) o= @
() MQTXA 5>M+4=Q,Q+3=T,T+4=XX+3=A
(b) SWZDG -»S +4=W W +3=7,Z +4=D,D +3=G
(c) INQUX > J+4=NN+3=QQ+4=U,+3=X
(d) PTXBF 5P +4=TT+4=XX+4=B+4=F

(0)z8 w1 |
Ik, Hewd, His Tl HsfeEl § i e Seis @
(o) @ 2

c__ & F
(a) =

b)M P L
(oM P

25.

26.

27.

28.

29.

30.

3.

32.

33.

34.

35.

iffehoT M 3

(c)D G c
+3 -4
(d)Q = ="
(d)zsa gea o

2

(c) ¥ =
(a) 32-45 MR = 13 ITIA
(o) 13-16 M = 3 I
(c)16-30 R =14
(d)12-15 R = 1 AT
(c) ¥ =

(0) ADGPI Teell 3iX di=en el @R 2

(b) OMKLU W8ell 3R wieal 38R &R ©
(c) vDCKA

(d) ECVMU Teetl 3R wisen 21eR ®R 8
(d)za v o
A, W, R EE W SuE R S R AR e
fagt @ & fau swam faan s @
(d) et ? [wean @ x (ween + 1) - T GEA]
(a) 22:506 — 22 (22 +1) =506

(o) ]422]O—>]4><(]4+1)=2]O
(c) 17:306 —>17><(17+1): 306

(d) ]1:]42—>H><(ﬂ+1):]32¢]42

(b) ¥ &

(@) NTZ5>N+6=T, T+6=2

(b) BFQ »B+5=G, G+10=Q

(c) FIR>F+6=1, L+6=R

(d) LRX >L+6=R, R+6=X
(b)z9 w7 #

HIRTERTE, Teash, 1 TR & 1 & iR oA foom @
(d)za v o

(c) T (vramdaw) -geu-fawm &
(a) Avz :(1+26)—22:5
(o) UPF :(21+6)716:11
(c) oKL = (15+12)—n =16

(d) E2ZV :(5+22)—26:1

(b)¥ed & & fF [Weft & &1 AW 9 & P 2]
(a) 2421=2+4+2+1=9
(b) 7261=7+2+6+1=16
(c) 5472=5+4+7+2=18
(d) 4842=4+8+4+2=18

(b)z8 w1 #



4 m SSC Reasoning

nd CPO Exams

For SSC CGL a

U SRR-THE H WA L S A

SSC CGL 23/08/2021 (Shift-1)
(a)LNJP (b) GIEY (c) PRNT (d)FHDJ
I G- H A B S A R

SSC CGL 20/08/2021 (Shift-3)
(a)54:152  (b)36:98  (c)82:236 (d)68:196
IH FLR-GHE H1 wA H S fa 2

SSC CGL 20/08/2021 (Shift-3)
(a)JLp (b) CEH (c) sux (d)LNQ
I & H T H S A B

$SC CGL 20/08/2021 (Shift-3)

(o) @it (b) = ()= (d) gsme
U AMER-FUE K1 WE w S R

SSC CGL 20/08/2021 (Shift-2)
(a)czwT (b) PMJG (c) sPmy (d) GbAW
I IE H T HE S B R

SSC CGL 20/08/2021 (Shift-2)

() sren STe (b)wm =z
(c) srafa < (d)=men s
SH G- w1 wE w1 S fa R

$SC CGL 20/08/2021 (Shift-2)
(a)727:609 (b)373:255 (c)191:177 (d)797:679
I Y& H T w1 A R

$SC CGL 20/08/2021 (shift-1)
(o) =it (b) efer (c) = (d) ==
ST HT T HL SSC CPO 11/12/2019 (Shift-1)
(a) @@ (b) Bfer (c) = () T

U SER-UYE K1 W kL S fa 2

SSC CGL 20/08/2021 (Shift-1)
(a)MN (b) kP (c)aL (d)eT
I - H WA w1 A R

SSC CGL 20/08/2021 (shift-1)
(a) (547, 258) (b) (723,144)
(c) (546, 225) (d) (812,121)
I TE H T HE S A 2

SSC CGL 18/08/2021 (Shift-3)
(o) wfew (b) Seure (c) gffar  (d)3w
U SER-UYE K1 W wL S fa 2

SSC CGL 18/08/2021 (Shift-3)
(a)xzTB (b) BDYF (c) TvaQx (d)NPKR
IH FE-UHE HT WA HY S T R

SSC CGL 18/08/2021 (Shift-2)
(a)NRJIG (b) TXCZ (c) FJQN (d) DHSP
IH gEA-gH H T w2

SSC CGL 18/08/2021 (Shift-2)
(0)30:908 (b)25:631 (c)22:490 (d)21:447
foqom 218R-THE 1 999 HL SSC CGL 09/03/2020 (Shift-3)
(a)DPG (b) CIF (c) BFF (d)EYH
9 G- w1 we w1 S fa R
SSC CGL 09/03/2020 (Shift-2)

(c)21:154  (d)39:270

(a)37:256 (b)31:214

18.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

faom oz w1 =T A
(o) mewe (b) B

(c) sreem (dl) =rfeer s

fomm S1aR-THE &1 97 HL SSC CGL 09/03/2020 (Shift-2)

SSC CGL 09/03/2020 (Shift-2)

(a)eT (b) AZ (c) KN (d)Lo
faog 35 @1 = W $SC CGL 09/03/2020 (Shift-1)
(a)zh (b) e (c) avm (d) s

I - G RS artewd @ fae R

SSC CGL 09/03/2020 (Shift-1)
(a)53:378 (b)37:266 (c)45:322 (d)43:318
foom AaR-TE 1 =99 W

SSC CGL 09/03/2020 (shift-1)
(a)TVXz (b) RSTU (c) INQS (d)ADGUY
faom o= w1 = B

SSC CGL 07/03/2020 (Shift-3)
(o) TmreR (b) ey (c)wers  (d)wet
fowm S1aR-TE w1 W=

SSC CGL 07/03/2020 (Shift-3)
(a) BCEHL (o) GHIMP  (c) ABDGK  (d)NOQTX
Y TG H 9EH R S awa 4 e R

SSC CGL 07/03/2020 (Shift-3)

(a)28-164 (b)12-72 (c)i9-14  (d)17-102
faem =1 =M= SSC CPO 11/12/2019 (Shift-3)
(o) foraimm Okissan
(c) forama (dl) forvemptar
St € S8 T

SSC CPO 11/12/2019 (Shift-3)
(a)48-81  (b)B4-100 (c)25-36 (d)16- 49

39 9YE H 9w S A R

$SC CPO 11/12/2019 (Shift-3)
(b) 561: 615 : 165

(d) 426 : 642 : 246

(a)632:325: 236
(c)289:829:928
fomm 1 =+

$SC CPO 11/12/2019 (Shift-3)
(o) T (b) &= (c) o= (dl) et
dens # 9r S fu ¥ A ¥ 99 R @ 9w

&, Sl UH TN Bl S H1 wEA F SSC CPO
11/12/2019 (shift-1)

(a)7:50 (b)21:462  (c)14:210 (d)25:650
fomm =t =+ SSC CPO 11/12/2019 (Shift-1)

(b) 416 : 641 461
(d)189:198: 819

(a)761:617:176
(c)236:325: 263

fom &t = SSC CPO 11/12/2019 (Shift-1)
(a)NVH - KUK (b) CWX - AVZ

(c)REA - ODD (d) TXB - QWE

fomm &1 =+ SSC CPO 11/12/2019 (Shift-1)
(a)126 (b) 91 (c)196 (d)189

fomm & = SSC CPO 11/12/2019 (Shift-1)
(a)61 (b) 109 (c)73 (d)a

fomm 1 =+ SSC CPO 11/12/2019 (Shift-1)
(a) = (b) =it (c) ==, (d)@isr



(o) ¥t 2
(a)L N J P
+2 +6
(b)G - I E — Y
(c)p o R — = T
(d)F H D J
+2 -4 +6
(d) = 2

(0) 54x3-10=152
(b) 36x3-10=198
(c) 82x3-10=236
(d) 68x3-10=194 =196

(o) T 2
(a)J - L = P
)L —7N—7—Q
()8 —5-U—g
(dc___ B w
2 -4
(d)za w3 o
(d) = 2
(a)c Vi W. T
-3 -3 -3
(b)p — M — J — G
(c)s — p — M_3 J
(d)G — D — A —~ W
(c)z@ w3 #

A ST, T HET, VT Wi & foeim g ¥
(c) e (1t — 204 = 118) ®
(a) 727-609=118
(c)191-177=14

(d)z@ oo ®
THHT, TR, e Uk YRR 1 RO A AL §, S
SRl

()5 w3 &

(c) The pattern is

(b) 373-255=118
(d) 797-679 =18

(@) M=N (foretrm) (b) K-P (foeim)
(c) Q-L (faeim) (d) G-T (faam)
(o) e 2

(0) 547 5+ 4+7 =162 = 256, not 258
(b) 723 57+2+3=122 =144
(c) 546 »5+4+6=152 =225
(d) 812 58+1+2 =172 =121
(c) =@ w1 |
ofer, SedE, Y ool A it g fate

20

21.

22.

Euiczull 1

(o) ¥t 2
(a)x Z T B
+2 +20 +8
(o)B D Y F
+2 +21 +7
(e)1 v Q X
+2 +21 +7
(dN P K R
+2 +21 +7
(a) b= 2
(a)N R J G
+4 -8 -3
b)T X C VA
(b) +4  fowa -3
(c)F J____Q N
+4 [ -3
d)D H_ S p
( ) +4 IERRK] -3
(o) it 2

(b) 252 +6 =631
(d) 212 + 6 = 447

(a) 302 +8=908
(c) 222 + =490

(c) ¥t 2
(a)D=4 (b)c=3
42 Z16=1 32=9=I
4+3=7=C 3+3=6=F
(c)B=2 (d)E=5
22 _4-D=F 52 -05=Y
2+3=5=E=F 5+3=8=H
(c) b= =
(a) 37:256 (b) 31:214
37:37x7-3 31:31x7-3
(c) 21:21x7+7 (d) 39:270
39:39x7-3
(d)za w7 &

T, W, I W T AfeR aifey weon fafed @
(c) = ®

(a) GT (fauda) (b) AZ (faudia)
(c)KN (d) LO (fawdia)
(b)zm w7 #
(d) ¥t 2
(0) 53:378 (b) 37:266

(53x7)+7=378 (87x7)+7=266

(c) 45:322
(45><7)+7:322
(c)@® &
(@)T +2=V X +2=26
(b)R+1=5T +1=U
(c)J+4=N,Q+4=U %5
(d)A+3=D,G +3=J

(d) (43><7)+7¢318



6 B SSC Reasoning

23.

24.

25.

26.

27.

28.

(c)zam w1 &

(b)te 2

(a)B+1=C, C+2=E, E+3=H, H+4=L
(b)G +1=H, H+2=J, J+3=M, M+3=P
(c) A+1=B, B+2=D, D+3=G, G+4=K
(N+1=0, 0+2=Q, Q+3=T, T+4=X
(o) ¥t 2

(a) 28-164 28-(28x6) =168 #164
(b)12-72 12 -(12x6)

(c)19-14 19-(19x6)

(d) 17-102 l7—(]7><6)

(c)za w1 &

vIgh1el, fagerhier @R T Wi fagw fowa € @it qws
arsfra B

(o) ¥t ®
(a) 48-81

(b)
(c) 52 -62
(d)

(a)s@ w3 °
(a)2, 3,5, 6 % 3@ fwa T
(b)1, 5, 6 &1 ST R T
(c)2, 8 9 % sHaM fwan T ©
(d)2, 4, 6 %1 s9EM T T B

82 102

42 _72

29.

30.

31

32.

33.

34.

35.

(c)za gea o
U, T, TS FeA & AR e foavm
(o)ﬁﬁ(nzzn2+n)%

(@) 7:50:&(72 ;72+7)

(b) 21: 462~ (21)":(2° + 21
() 14:210- (14)" : 142 +14)
(d) 25:650 = (25)" (252 + 25

(c)zm wa o

(a)1, 6, 7 1 Sw=m feman T

(o)1, 4, 6 =1 39 femam TN

(c)2,3,5,6 1 3w fwan w0

(d)1, 8,9 =1 3HEM foman T
(b) 38 WA § dfe = @ o

Tea- 3 1eR feufa &9 &1, S0 1 teR feufa &w g

AR A +3 weR feafd #w e @, foeew b wWE ©
(d)za gea o

91, 126, 196, 7 ¥ fawsg & wfea 169 foom @
(d)za go o

61, 109, 73 A9RT W& € Afkd 91 & ©
(o)z9 wd o

o, =, T TH N § o famm



